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1. SUMMARY

This document presents simulation results for uplink. Simulated services are speech with 8 kbps data rate, and data service with 144 kbps data rate. Simulation results are obtained both for simple ACIR model and for   more realistic ACIR model. The additional ACIR model is discussed in Annex A.  

Simulation for speech results show that ACIR 25 – 35 dB give approximately ~1 – 4 % capacity loss for worst case layout when using realistic ACIR model.  With simpler ACIR model 30 dB ACIR capacity loss is approximately 5 % for worst case and 3 % for intermediate case.

Simulations for data show 1 – 2.5 %  capacity loss for ACIR 30 dB if simple ACIR model is used. With realistic ACIR model capacity loss can be even lower (not simulated yet).

According simulation results terminal ACLR  requirement 30 dB is proposed.

2.  realistic ACIR model 

 Realistic ACIR modeling was discussed in simulation ad hoc in Turin. It was not yet deciced whether to use such a model or not.  Nokia has drafted a model for the discussed practical ACIR model. The ACIR model proposed by Nokia can be found from Annex A.

2. Speech simulations

Simulations for speech and data are made according simulation ad hoc assumptions and parameters. Number of base station was selected to be 19.

Results for simple ACIR model with worst case and intermediate base station shifts is shown in Figure 1. According simulation results, 30 dB ACIR gives capacity loss in order of 2 – 5 %. For 25 dB ACIR capacity loss is 9 – 15 %. With ACIR 35 dB and higher capacity loss is 2 % or less. Simulations show that 30 dB or higher ACIR gives modest capacity loss.
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Figure 1. ACIR simulation results for speech results with worst case and intermediate case base station shifting. Simple ACIR model was used.

Worst case simulation was executed  also for the more realistic ACIR model, see Figure 2. In this case the realistic ACIR model gives less than 2 % capacity loss for ACIR higher than 30 dB. For 25 dB ACIR the capacity loss is still less than 4 %. According these results ACIR requirement can be 25 - 30 dB.
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Figure 2. ACIR simulations for speech with simple and realistic ACIR models with worst case layout

3.  Data simulations

Simulations for data service were executed by using only the simple ACIR model. Simulation results are shown in Figure 3. Simulation shows that required ACIR can be less for data than for speech. For ACIR values more than 30 dB capacity loss is less than 3 %. Simulation results for ACIR less than 30 dB is still missing. Form the existing results it can be concluded that required ACIR can be 30 dB or less.
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Figure 3. ACIR simulations for data (144 kbps)  with worst case and intermediate case base station shifting and with simple ACIR modeling.

4.  Conclusion

According simulation results terminal ACLR requirement 30 dB is proposed.

